

Ex Solve $r = a't$.

Ans: We know that

$$dp = r dx + z dy$$
$$\text{and } dq = z dx + t dy$$

$$\Rightarrow r = \frac{dp - z dy}{dx} \quad \& \quad t = \frac{dq - z dx}{dy}$$

Putting in given differential eqn we get

$$\frac{dp - z dy}{dx} = a'^2 \frac{dq - z dx}{dy}$$

$$\Rightarrow dp dy - z dy^2 = a'^2 dq dx - a'^2 z dx^2$$

$$\Rightarrow (dp dy - a'^2 dq dx) - z (dy^2 - a'^2 dx^2) = 0$$

Monge's subsidiary equations are

$$dp dy - a'^2 dq dx = 0 \quad \text{--- (1)}$$

$$dy^2 - a'^2 dx^2 = 0 \quad \text{--- (2)}$$

From (2) we get

$$(dy - a' dx)(dy + a' dx) = 0$$

$$\Rightarrow dy - a' dx = 0 \quad \text{--- (3)}$$

$$\& \quad dy + a' dx = 0 \quad \text{--- (4)}$$

From (1) & (3)

$$dp \cdot a' dx - a'^2 dq dx = 0$$

$$\Rightarrow dp - a' dq = 0 \quad \text{--- (5)}$$

From (3) & (5)

$$y - a'x = a_1$$
$$\& \quad p - a'q = b_1$$

$$\Rightarrow p - aq = f_1(y - ax) \quad \text{Intermediate integral} \quad (6)$$

Similarly for (4) & (1)

$$-dp \cdot a dx - a^2 dq dx = 0$$

$$\Rightarrow dp + a dq = 0 \quad (7)$$

From (4) & (7) $y + ax = a_2$
 $p + aq = b_2$

$$\Rightarrow p + aq = f_2(y + ax) \quad \text{Intermediate integral} \quad (8)$$

From (6) & (8)

$$p = \frac{1}{2} \{ f_1(y - ax) + f_2(y + ax) \}$$

$$q = \frac{1}{2a} \{ f_2(y + ax) - f_1(y - ax) \}$$

Putting in $dz = p dx + q dy$

$$dz = \frac{1}{2} \{ f_1(y - ax) + f_2(y + ax) \} dx + \frac{1}{2a} \{ f_2(y + ax) - f_1(y - ax) \} (a dx + dy)$$

$$\Rightarrow dz = \frac{1}{2a} \{ f_1(y - ax) (a dx - dy) + f_2(y + ax) (a dx + dy) \}$$

$$\Rightarrow 2a dz = f_2(y + ax) \cdot (dy + a dx) - f_1(y - ax) (dy - a dx)$$

On integrating.

$$2a z = \phi_2(y + ax) + \phi_1(y - ax) \quad \text{Ans}$$

$$\begin{cases} \because d(y - ax) = dy - a dx \\ d(y + ax) = dy + a dx \end{cases}$$

Solve $2x^2z - 5xyz + 2y^2t + 2px + 2qy = 0.$

Soln We know that $z = \frac{dp - sdy}{dx}$ & $t = \frac{dq - sdx}{dy}$

Putting in given partial differential equation.

$$2x^2 \left(\frac{dp - sdy}{dx} \right) - 5xyz + 2y^2 \left(\frac{dq - sdx}{dy} \right) + 2px + 2qy = 0$$

$$\Rightarrow \{ 2x^2 dp dy + 2(px + qy) dx dy + 2y^2 dq dx \} \\ - s \{ 2x^2 dy^2 + 5xy dx dy + 2y^2 dx^2 \} = 0$$

Monge's subsidiary equations are

$$2x^2 dp dy + 2(px + qy) dx dy + 2y^2 dq dx = 0 \quad \text{--- (1)}$$

$$2x^2 dy^2 + 5xy dx dy + 2y^2 dx^2 = 0 \quad \text{--- (2)}$$

Solving (2) $(2x dy + y dx)(x dy + 2y dx) = 0$

$$\Rightarrow 2x dy + y dx = 0 \quad \text{--- (3)}$$

$$x dy + 2y dx = 0 \quad \text{--- (4)}$$

From (1) & (3)

$$2x^2 dp \left(-\frac{y}{2x} dx \right) + 2(px + qy) dx \left(-\frac{y}{2x} dx \right) \\ + 2y^2 dx^2 = 0$$

$$2x^2 dp \cdot \left(-\frac{y}{2x} dx \right) + 2px dx \cdot \left(-\frac{y}{2x} dx \right) + 2qy dx dy \\ + 2y^2 dq dx = 0$$

$$\Rightarrow -xy dp \cdot dx - py dx^2 + 2qy dx dy + 2y^2 dq dx = 0$$

Dividing by $-ydx$

$$x dp + p dx - 2q dy - 2y dq = 0 \quad (5)$$

Solving (5) & (3)

$$(3) \Rightarrow \frac{2dy}{y} + \frac{dx}{x} = 0$$

$$\Rightarrow \log y^2 + \log x = \log A$$

$$\Rightarrow \log xy^2 = \log A$$

$$xy^2 = A \quad (6)$$

$$(5) (x dp + p dx) - 2(q dy + y dq) = 0$$

$$\Rightarrow d(xp) - 2d(yq) = 0$$

$$\Rightarrow xp - 2yq = B \quad (7)$$

From (6) & (7) $xp - 2yq = f_1(xy^2)$ — intermediate integr

Similarly taking (1) & (4) & finding intermediate

$$2px - yq = f_2(x^2y) \quad \text{— intermediate integr} \quad (8)$$

Solving (8) & (9) we get

$$p = \frac{1}{3x} \{ 2f_2(x^2y) - f_1(xy^2) \}$$

$$q = \frac{1}{3y} \{ f_2(x^2y) - 2f_1(xy^2) \}$$

Putting in $dz = p dx + q dy$ we get

$$dz = \frac{1}{3x} \{ 2f_2(xy) - f_1(xy^2) \} dx + \frac{1}{3y} \{ f_2(x^2y) - 2f_1(xy^2) \} dy$$

$$\Rightarrow dz = f_2(x^2y) \left(\frac{2dx}{3x} + \frac{dy}{3y} \right) - f_1(xy^2) \left(\frac{dx}{3x} + \frac{2dy}{3y} \right)$$

$$\Rightarrow dz = \frac{1}{3} \left[f_2(x^2y) \left(\frac{2dx}{x} + \frac{dy}{y} \right) - f_1(xy^2) \left(\frac{dx}{x} + \frac{2dy}{y} \right) \right]$$

$$\Rightarrow dz = \frac{1}{3} \left[f_2(x^2y) d(\log(x^2y)) - f_1(xy^2) d(\log(xy^2)) \right]$$

On integrating

$$z = \frac{1}{3} \left[\phi_2(x^2y) + \phi_1(xy^2) \right] \dots$$

Ans.